


4) In which paragraph is mentioned that child labour is very common in Turkey?        

(1pt) 

……………………………………………………………………………………………………………. 

 

5) To who or what do the underlined words refer to in the text?        (1,5pts) 

The country (§1) ……………………………….   Them:(§1) ……………………………………………. 

 

B/ Text Exploration: 

1) Find words from the text that that are closest in meaning to the following (2pts) 

a- main (§2)= ………………………………   b-permit(§4) =  ……………………………………………… 

 

2) Find words from the text that have the following definition:        (2pts) 

a. companies providing goods that are useful to another company. (§2) …………………………………… 

b.laws, rules, or other orders decided by authority. (§4). …………………………………………….. 

 

3) Re-write sentence b so it will have the same meaning as sentence a:  (4,5pts) 

1/ a. New work permits will help the Syrian refugees in Turkey. 

b.The Syrian refugees ………………………………………………………………………………………………………… 

2/ a. Syrian refugees work illegally in the country. 

b. I wish  ………………………………………………………………………………………………………….  

3/ a. There is no job security consequently you cannot work legally. 

b. Because ………………………………………………………………………………………………………………… 

 

4) Complete in the following charter:        (1,5pts) 

Verb Noun Adjectives 

To benefit   

 regulation  

  employed 

 

5) Fill in each gap with one of the following words:        (2pts) 

happy- forced - children - work - hours –more 

 

   Child labour-the employment of ……………….….. in industry, often against their will- has been a 

problem for many years. Girls are …………..………….   often than boys, the victims of child labour 

practices .Many of them are ……………….… to work at the age of ten. In Asian factories, children 

work from eight to fourteen ……………………….…   a day in unhealthy working conditions. 

 

 

 

Good Luck! 




